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Practice Set

1. qieT T AT g e,

IH YUl ST I


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_McJWp8PDYinI

° Watch Video Solution

2. JeleT 39 1G] gdi felar.

14 50 Aefic 99 o | I

o Watch Video Solution

3. JelcT 3 14l Ugdi felgr.

d BUT QUIlchid A

° Watch Video Solution



https://dl.doubtnut.com/l/_McJWp8PDYinI
https://dl.doubtnut.com/l/_FSuBYweVeMtm
https://dl.doubtnut.com/l/_qSXFylboyfum
https://dl.doubtnut.com/l/_y93Z8W498PJ7

4. 9GIcT |9 I1G! dgdiA g,
HoTTATcTeT HTd Hoo IR .

o Watch Video Solution

5. 311l fagid fatell fAem orsgia fer.

4
3 €@

° Watch Video Solution



https://dl.doubtnut.com/l/_y93Z8W498PJ7
https://dl.doubtnut.com/l/_v7RS0byXmq5o

6. Wil fgid feetelt faem orsgia ferar.

_2¢ N

o Watch Video Solution

7.|1ct fAgid feate! faem Qreaid forr.
P = {p|&! fawm T 3118}

o Watch Video Solution



https://dl.doubtnut.com/l/_xnCaXB8PUDOM
https://dl.doubtnut.com/l/_bKYBODA41n4z

8. PV 3 T a1 TGl 3170 urent U
fover.

C 8 12 1 faursTepal I

o Watch Video Solution

0. PV 3 T a1 TG 3170 urent g
fover.

D & 50 U & a°1 Gl I

o Watch Video Solution



https://dl.doubtnut.com/l/_BOmIr8zKaAGu
https://dl.doubtnut.com/l/_LnSDx7IoYL06
https://dl.doubtnut.com/l/_Gx5OswumkZnM

10. Wicilel I I1E} Ugdiq for.
URA IR aufdid Id Afg=mn 9.

° Watch Video Solution

11. Wictled I AT Ygdiq ferar.

'COMPLEMENT' 3T 2Tl 3TeRT=T I,

o Watch Video Solution



https://dl.doubtnut.com/l/_Gx5OswumkZnM
https://dl.doubtnut.com/l/_kTiCwV2ry0T2

12. Wrelld I 1S UgdA ferar.

o Watch Video Solution

13. WTeiic] U TG g4 for.

14 20 Heftel god TeeAT=I |

o Watch Video Solution



https://dl.doubtnut.com/l/_kkYqnB1b7Fs7
https://dl.doubtnut.com/l/_6wq6bBAcsZzY

14. Wcitel I 1S Ugdl- ferar.

gedia¥lcT WeT=IT .

o Watch Video Solution

15. Wcilel T I0TeH Tgait fora.

A={1,4,9, 16, 25, 36, 49, 64, 81, 100}

o Watch Video Solution



https://dl.doubtnut.com/l/_oWgcna3puG1e
https://dl.doubtnut.com/l/_jXZ181YAZYR3

16. Wicilcl ¥ IUFLH Ygail fora.

B={ 6, 12, 18, 24, 30, 36, 42, 48}

o Watch Video Solution

17. @rcitel 3 IOrH Ggdld foram,

C={S, M, |, L, E}

o Watch Video Solution



https://dl.doubtnut.com/l/_loLN2XDwxUXG
https://dl.doubtnut.com/l/_ZdXU2JZZkRE8

18. TWcitcl I IJUFYH Ygai- fora.
D= { dOR, AHAR, HIBAR, FUYAR, IHAR,

PR, AR }

o Watch Video Solution

19. Wicilcl ¥ IUFLH Ygaild foral.

X={ a, e, t}

° Watch Video Solution



https://dl.doubtnut.com/l/_XkAKlycNMa7c
https://dl.doubtnut.com/l/_f5rwbqH9zxiA

20. eIl I ITe! Tl foigd il Aid H< g 31
I 39 sy o &,
A ={z | z € N30z & faud w1 3118}

o Watch Video Solution

21. YeIel Y ITal gl foIg @i Aid 9 g 314d
T 319 Pffepror .

B={z |z e N33z —1=0}

o Watch Video Solution



https://dl.doubtnut.com/l/_nHpUxRu9FMVC
https://dl.doubtnut.com/l/_p7p0UYkfu5ZM
https://dl.doubtnut.com/l/_x2dMv45DIMYD

22. YIeT 9 I1d] Ugdla ferg & Hid H9 g 31
T 319 Pffepror .

C = {z | z € N30 77 fQurs A= 312 )

o Watch Video Solution

23. YeIeT 9 ITd] Ugdla ferg & Aid H9 g 31
T4 319 o1 .

D ={(a,b) | a,b e W,a+b=9}

o Watch Video Solution



https://dl.doubtnut.com/l/_x2dMv45DIMYD
https://dl.doubtnut.com/l/_AjOwuuAt99Q4
https://dl.doubtnut.com/l/_fg49z8Mr7A3H

24. YeIeT 9 ITd] Ugdla ferg & Hid |9 g 31
T4 319 Pffeprur .

E={z|z el =100}

o Watch Video Solution

25. Yelel 9 ITd] Ugdia ferg & Aid H9 g 31
T4 319 o1 .

F={(a,b) [a,beQa+b=11}

o Watch Video Solution



https://dl.doubtnut.com/l/_fg49z8Mr7A3H
https://dl.doubtnut.com/l/_QPMincNxTG0s

26. Tlcilddeh! PIUA Fd FHE d B0 Alled
ABRUT JAPT. A={x|3x-1=2}, B={x|x Afih TwAT 311
U x HB @ A 9 JH @ A,

C={x|xe N,z <2}

° Watch Video Solution

27. A d B JHM 31Ted &I d BRI JPTI.
A={  ¥H 3wl o WS )

B={z|7r—1=13}

° Watch Video Solution



https://dl.doubtnut.com/l/_vKeC1cRd3H4N
https://dl.doubtnut.com/l/_Rz66AwmHT2x9

28. WTefiel Ut PHIvTa T Nh 37Med o IBROT HPT.
A={a|a gl YT g AU 4fich e
3778}

° Watch Video Solution

29, WaileT Uehl BT T Neh 31ed o HBRUT JTI.

B:{zc]:czzO}

o Watch Video Solution



https://dl.doubtnut.com/l/_Rz66AwmHT2x9
https://dl.doubtnut.com/l/_lQ6TOOElKMVh
https://dl.doubtnut.com/l/_3Ei2cY8IYe6v
https://dl.doubtnut.com/l/_fW6YRT1nkJ4e

30. WTetflcd Oht HIuTd T NTh 3Med o JBRUT JiTT.

C={z|5z—-2=0,z € N}

° Watch Video Solution

31. WlelteTddh! BT JT Hid g BIUId 3d 3Ted d
IHRUT foigr.

A={x|z < 10 & 0T Fwa )}

° Watch Video Solution



https://dl.doubtnut.com/l/_fW6YRT1nkJ4e
https://dl.doubtnut.com/l/_F8uxL3XM27En

32. WleiteTddh! HIUTd T Hid g HIUId 314d 37ed d

IHRYT gl

B={y|y<-1,y &l quiies Tz}

o Watch Video Solution

33. WleiteTddh! PIUTAT Jid I J HIUId 31+d 3Ted d
IHRUT fergl.

C TN AMSeited 9 ot Hefiel Id faemearal

o Watch Video Solution



https://dl.doubtnut.com/l/_myZZOexPyXYV
https://dl.doubtnut.com/l/_b0MZChB64gxi
https://dl.doubtnut.com/l/_3P2iRggiOwnk

34, WTcioTddh! HIUTAT Fid I g PTG 3+d 37ed d
BRI fergl.

=N IMaTdlc Ifgarern dd

o Watch Video Solution

35, WlciteTddh! PIUTAT Jid I J HIUId 31+d 3Ted d
IHRUT fergl.

TIPTS5 dlted 3UBUTT I

o Watch Video Solution



https://dl.doubtnut.com/l/_3P2iRggiOwnk
https://dl.doubtnut.com/l/_8Swy1yzzQ3Gr
https://dl.doubtnut.com/l/_JJNnvHV1oPEy

36. WlciteTddh! PIUTAT Jid W d HIUTId 314d 3Ted d
BRI fergl.

o e T

o Watch Video Solution

37. WletlcTtdh! PIUTAT Aid I I BT 37-d 3Ted o
IHRUT fergl.

gAY I3 O

o Watch Video Solution



https://dl.doubtnut.com/l/_JJNnvHV1oPEy
https://dl.doubtnut.com/l/_ss66QvoFfFe6

38.5R A={a,b,c,d,e},B={c,d, e, f},C={b,d},
D = {a, e} TR JSIcTUhl BV fde T g BIU
faem 31 31m8d d ferg.

(i)C C B

(i)AC D

(i) D C B

ivvDC A

vyBC A

(vijyC C A

o Watch Video Solution



https://dl.doubtnut.com/l/_5xIA9ooWW8DA
https://dl.doubtnut.com/l/_kzGiBiXncAFG

39. 1 d 20 #efiet Awfife T faesda 934 X
37101 Y o HThd I graa.

X={x|x € N,30 7 < x < 15}

o Watch Video Solution

40. 1 d 20 "efiat Aafie S fAyda 939 X
37101 Y o HThd I grEal.

Y = {y| y € N,y 1d 20 Aellel Jo5 T 3778

o Watch Video Solution



https://dl.doubtnut.com/l/_kzGiBiXncAFG
https://dl.doubtnut.com/l/_iNmKOKrNnX8a

M.U = {1,2,3,7,8,9, 10, 11, 12}
P =1{1,3,7,10}

U, P, P' fo1g1 3mfor 9= gregar.

o Watch Video Solution

42.U = {1,2,3,7,8,9,10, 11, 12}
P =1{1,3,7,10}

(P')' = P IT<IT YSTodT &1,

o Watch Video Solution



https://dl.doubtnut.com/l/_de5YoxdoDlxV
https://dl.doubtnut.com/l/_comTbl2p3SLR
https://dl.doubtnut.com/l/_gNIQ5fGDngGJ

43.4 ={1,3,2, 7}

A I1 A o= 399 Qve.

° Watch Video Solution

44, GSIe1 I Yl PIUTd D GH-=AT I I
39T 3Ted d forgr.
P &1 qUITCileT Ifgareri=n H 3Te.

° Watch Video Solution



https://dl.doubtnut.com/l/_gNIQ5fGDngGJ
https://dl.doubtnut.com/l/_gNJzgbvYBEQm

45, Yeicl Iitchl PIvId Jd GHIT DIVl Jid
39T 31Te, d feter.

P &1 qUuaTdIeT Ifgameri= < 31e.

M BT HegvaelTdleT IfgaTerian Jd 3Te.

| &1 gaRmele fganerien I 3.

B &1 HRdTcilct Igaeri=n I 3Te.

H 81 HERTEIdIel g F 8.

o Watch Video Solution



https://dl.doubtnut.com/l/_T3jPskSQVvlp

46. P 1 qUaTdIe Ifgareran Id 31e.

M &1 HegvaelTdleT IfgaTeriaT Jd 3Te.

| &1 gaRmele fganerien I 3.

B &1 YR dTdleT IfedTeri=r ¥ 31Te.

H &1 HERTZIdTeT Ifgareiren I 8.

IR Yl PIUTAT I AT eIV fIgai= U
€T Jge.

o Watch Video Solution



https://dl.doubtnut.com/l/_wzdSnGVszVpF

47. QTcil Plal 99 ool 3MTed. AT 3TN BIdET
PIUTAT I T SATITS! fa4Ed gd1 Isc1?
A = 5 ] UIdld AT 4d, B = 7 T Uledldidd

YT I, C = 12 T Uldled Wil 4,

o Watch Video Solution

48, W) B! T foel 3Med. T 319ATT BIATT
PIUTAT I T ST f[a4Ed gd1 Isa1?
P = 4 =1 9ldlcl Yuiieh W& A, T = 9d |7

| & |


https://dl.doubtnut.com/l/_cFZxkYHCzDND
https://dl.doubtnut.com/l/_X3pj0vye9H5m

| ¥ Watch Video Solution |

49, Iidlel Td faemeafn d9 @ fayww A,
TfordTd 50% fdsar mden A% o1 Awgum=an

faremei=n | A ATl R A < b I forgl.

o Watch Video Solution

50. Ul I1Td 70 faemeft 3mgd. ity 45 faemeiar
fopdbe BT Wos 3Mdsdl. 52 fdemeaiar Wil g W
Tasdl. 39T Udbel faemeff At & e Jiddh

Ube! Wd 3MTasd ATel. ¥ fopabe 31f0Y W-&) § arel


https://dl.doubtnut.com/l/_X3pj0vye9H5m
https://dl.doubtnut.com/l/_XsqvG9GgOVjw
https://dl.doubtnut.com/l/_6CFaT8wHyLTL

Wes GSUMAT Hefidl AT Plal. Bih fobdse
TISUTRY Hed fobedl ?

° Watch Video Solution

51. SR n(A) = 15,n(A U B) = 29,

n(A N B) = 7, @ n(B)=fddl ?

o Watch Video Solution

52. Ul quferfera 125 faemeff 3med, <iddhl 8o
faenelf =gr gdard, 60 faemeff &bl gara 3nfor 20


https://dl.doubtnut.com/l/_6CFaT8wHyLTL
https://dl.doubtnut.com/l/_KCrC8NVSQIsr
https://dl.doubtnut.com/l/_Q1m6jtV5Q1uB

foemelf =81 9 Pl €l gl bRl U 8dld, d
Uhe! O 7 gur=yy fJeneaf=h Tva srer.

° Watch Video Solution

53. Ul Wef Wi 50 faenelf gysiid 3ol S,
60 faremeff srfora fasard 3eiivl eire. 40 faemelf <l
3TATOT ST ATEY. R Ut faremeff faeft &l ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Q1m6jtV5Q1uB
https://dl.doubtnut.com/l/_r40Yl1WXlV3n

54, Ul 2AMcdclel I Aadraan 220 faemeaien
JOST TGHUT el Fidhl 130 faEmef
PRy 319 3178 3 Wifidel g 180 faameaf-i
THIMGLHTE TS T8 3 Wifdldel. 110 faemeaf
RIRYHUT HTagd T ThTRIGHE! ATasd 34 Hiblde.
R feocll faremeaiar ar Q! e 3as Al
foodt faemeaia &b PIRYAU 3M@gd?  fobdl
faremeaiqr web repieaH 3magd?

o Watch Video Solution



https://dl.doubtnut.com/l/_4KDalb1aXBHE

55. ASTRIeT 99 HAThcilaw Jelel Id A foral.

(i) A

(i) B

(i) AU B
(iv) U

(v) A

(vi) B'

(vii) (AU B)’

o Watch Video Solution



https://dl.doubtnut.com/l/_Qs8UjfDjkkgQ

1. Tleilel TYRITS! 371 94ty fAger.

M={13,5},N={2,4,6l M NN = ?

A A={1,2,3,4,5,6)
B. B=(1, 3, 5}

C.o

D' {2’ 4’ 6’}

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_NffEmqySR8qR

2. "Wicilel YHATS 31p gy A9l P = {x | x &
fawn Fafife dwm, 1< x < 5) & 99 AEugAA
T fafgetl Sigct?

A.{1,3,5)

B.{1,2,3,4,5)

C.{1,3},

D. {3, 5}

Answer: D

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_NffEmqySR8qR
https://dl.doubtnut.com/l/_oxWYtDAMK4iK

3. Wlcilel GRS 3 gy sl

P ={1,2,.... .10} & DIV YbRAT I 3778 ?

A. vh Od
B. 314d Id
C. 9g1d 9d

D. ITYHT AT

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_oxWYtDAMK4iK
https://dl.doubtnut.com/l/_wmwTUuVhLuBR

4. TIcileT YRS 31eh 9ty gl
MUN ={1,2,3,4,5,6} 3101 M={1, 2, 4}, R
GicileTdeh! N gl 3 BIuTd] ?

A.{1,2,3)}

B.{3,4,5, 6}

C.{2,5,6}

D. {4, 5, 6}

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_wmwTUuVhLuBR
https://dl.doubtnut.com/l/_XmJU8qhBG6oX

5. Wil YHRATS! 31 9ty sl
SR PC M, @ PN(PUM) & Hitcldd!
HIUTAT 3 ?

A.P

B. M

CPUM

D.P"NM

Answer: A

l a Watch Video Solution


https://dl.doubtnut.com/l/_XmJU8qhBG6oX
https://dl.doubtnut.com/l/_ygst72Zlwey1

6. Wlcilel GHRATS! 3P gy Al
Gl TeTdehl BIoTdT Id Reh T 3778 ?

A. THICR 9T ee figan I«

B. TH Yoo | AT I

C.30 UaT ot feay 39aedn Sust Afg=amn
I

DP={z|zecl, —-1<z<1

Answer: A



https://dl.doubtnut.com/l/_ygst72Zlwey1
https://dl.doubtnut.com/l/_1IAnQsx3YGmN

\ o Watch Video Solution

7. Glcilel IUNRANTS! 3 gAY fAgsl.
HlcileTdeh! HIOTAT HHE T HTE ? a)IeeI=Tdle 31
b)QMSAT ITERTAIA 3 8118 ¢) MdTdicl dHd clip
d)qAbId el TUl 3erevol

A. EGTRITANC 391

B. ST AR 3 ST

C. 3TaTdiet 2iHd ik

D. geohIdict AUt 3GTexl


https://dl.doubtnut.com/l/_1IAnQsx3YGmN
https://dl.doubtnut.com/l/_m7nqqbmZQS16

Answer: A

o Watch Video Solution

8. Wciiel IYNLMNTS! 31 Uiy fAgsl.
N N W gl I9 QArciietdds] HIoTdr ?
A{1,2,3..)
B.{0,1,2,3..}
C. {0}

D.{}


https://dl.doubtnut.com/l/_m7nqqbmZQS16
https://dl.doubtnut.com/l/_kk1JEvaEeezT

Answer: A

o Watch Video Solution

9. WTefieT IUNRMATSY 37Tehs Ty AT
P={x | x & indian IT ATl 31&R 378} @R P &
I IS g WiefieTied! HIoTdr?

A. {i, n, d}

B.{i,n,d, a}

C.{i,n, a}

D. {n, d, a}


https://dl.doubtnut.com/l/_kk1JEvaEeezT
https://dl.doubtnut.com/l/_Q26dzjzqcKRO

Answer: B

o Watch Video Solution

10. Weilel 3UNARATS! 31 91y fAasl.
SRT =1{1,2,3,4,5} M=1{3,4,7,8 R T
U M=?

A.{1,2,3,4,5,7)

B.{1,2,3,7,8}

C.{1,2,3,4,5,7,8}

D. {3, 4}


https://dl.doubtnut.com/l/_Q26dzjzqcKRO
https://dl.doubtnut.com/l/_uazBFyEEyezz

Answer: C

o Watch Video Solution

11. Tref4 JeRideld AwrgId 70 18 ddail o Usi
90 TS cTdeil. Fiddh! 25 18 ardi-el e erdel,
¥ urelfobar gsit it vt fobel SlTs elraei ?

o Watch Video Solution

12. 3R n(A)= 20, n(B)= 28 d n(A U B)=36 d?¥ n(A

N B) =?


https://dl.doubtnut.com/l/_uazBFyEEyezz
https://dl.doubtnut.com/l/_bMzAtfbeYdlN
https://dl.doubtnut.com/l/_HkqidusZQxfR

° Watch Video Solution

13. Udl Tt 28 faemeaidd g faemeaizn gt

Bth HAl Ulodell g, 6 faeneai<an @l %h HisR
UIga 3MTe. 10 faemeaten gt o 3nfor Aisk greie!
UIBd e @R fbdl [emeaien ad o1 fosar AisR
70T Tebg! UTUN ATescietl ATEl?

° Watch Video Solution



https://dl.doubtnut.com/l/_HkqidusZQxfR
https://dl.doubtnut.com/l/_qSgQFRrDWMrO

14. IEId Ud 3GERUNdldd ddial 8¢ 9 o
3T AT WIERATH GRadl.

(i) A=(3,4,5,7} B ={1, 4, 8}

o Watch Video Solution

15. WiciieTdeh! DIUTd H BIUTT i< 3UET 3778 d
fetar.

X = Jd eI .

Y = d AHYS b I,

S = {d IR H.


https://dl.doubtnut.com/l/_njaKn4gCKQxv
https://dl.doubtnut.com/l/_fDCTigG1AgoI

T = Id AHIARYST bl .

V = Id 3T 91,

° Watch Video Solution

16. SR M & DIl Uh Jd 3cl, @i M U ¢

HIfOT M N ¢ Tl

o Watch Video Solution

17. OSIRIA 99 HThdlasd U, A, B, A U B, 3101

ANB g R ferar.


https://dl.doubtnut.com/l/_fDCTigG1AgoI
https://dl.doubtnut.com/l/_nt93G8tsluPA
https://dl.doubtnut.com/l/_rAVvQij9dzPK

o Watch Video Solution

18. SR n(A) =7, n(B) = 13, n(ANB)=4, R

n(A U B) =

° Watch Video Solution



https://dl.doubtnut.com/l/_rAVvQij9dzPK
https://dl.doubtnut.com/l/_mKAlOLznrsSj

